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Direction 1 - 5 : In the following question three
statements are followed by two conclusions
numbered | and Il. You have to take the given
statements to be true even if they seem to be at
variance from commonly known facts. Read all the
statements and decide which of the given
conclusion/conclusions logically follows from the
given statements.

Q:1 Statements:

Few Door are Pony.

Only a few Rado is Image.

Only a few Pony is Image.
Conclusions:

I. Some Pony is not Door.

ll. All Rado being Image is a possibility.
1. Only conclusion | follows

2. Only conclusion Il follows

3. Both conclusions | and Il follow
4. Neither conclusion | nor Il follows
B. Either conclusion | or Il follows

Q:2 Statements:

Only a few Robe is Kobe.

No Dope is Tomb.

Some Tomb is Robe.

Conclusions:

I. All Robe being Dope is a possibility
Il. All Robe being Kobe is a possibility
1. Only conclusion | follows

2. Only conclusion Il follows

3. Both conclusions | and Il follow

4. Neither conclusion | nor Il follows
b. Either conclusion | or Il follows

Q:3 Statements:

Some Signature are Blue.

No Blue are Hunger.

Only a few Hunger is Purpose
Conclusions:

I. Some Purpose are not Hunger.
Il. Some Signature are not Hunger.
1. Only conclusion | follows

2. Only conclusion Il follows

3. Both conclusions | and Il follow
4. Neither conclusion | nor Il follows
5. Either conclusion | or Il follows
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Q:4 Statements:

Only a few Nuts are Rages

Few Rages are Breads

No Bread is Manner
Conclusions:

I. Few Nuts are Breads

Il. All Rage can be Manner

1. Both conclusions | and Il follow
2. Only conclusion Il follows

3. Only conclusion | follows

4. Either conclusion | or Il follows
B. Neither conclusion | nor Il follows

Q:5 Statements:

Some Flower is Disgust.

Every Manager is Tounge.
Some Disgust are Manager.
Conclusions:

I. Some Flower is Tounge.

Il. No Manager is Flower.

lll. Some Flower is not Tounge

1. Only conclusion | follows

2. Only conclusion Il follows

3. Only conclusion lll follows

4. Either conclusion | or Il follows
b. Either conclusion | or lll follows
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IAnswer Key

1. (4) 2. (4) 3.(2) 4. (5) /5. (5) I

Conclusions:
Q:1 The correct answer is Option 4 i.e. Neither I. Some Purpose are not Hunger: False (as Only a
conclusion | nor Il follows few Hunger is Purpose, definite negative
The least possible Venn Diagram is: relationship of Purpose with Hunger is incorrect.)

Il. Some Signature are not
Hunger: True (Signatures that are a part of Blue
are not Hunger)

Hence, the correct answer is Only conclusion I

follows.
Conclusions: ) .
. Some Pony is not Door: False (This is a possibility Q:4 The correct answer is Option
but not definite) 5 i.e. Neither conclusion | nor Il follows

II. All Rado being Image is a possibility: False (Only The least possible Venn Diagram is:

a few Rado is Image, which means that Some
Rado are image and Some Rado are not Imoge)

Hence, the correct answer is Neither conclusion |

nor Il follows.

Q:2 The correct answer is Option 4 i.e. Neither Conclusions:

conclusion I nor Ii follows . Few Nuts are Breads: False (This is a possibility

The least possible Venn Diagram is: but not definite, as no direct relationship between
the two is given)
II. All Rage can be Manner: False (As Few Rages
are Breads and No Bread is Manner Rages that are
a part of Bread can never be Manner.)
Hence, the correct answer is Neither conclusion |

. nor Il follows.
Conclusions:

I. All Robe being Dope is a possibility: False (As . . N
Some Tomb is Robe and No Dope is Tomb, Robes Q:5 The correct answer is Option 5 i.e. Either

that are a part of Tomb can never be a part of conclusion | or lil follows _
Dope) The least possible Venn Diagram is:

II. All Robe being Kobe is a possibility: False (Only a
few Robe is Kobe, which means that Some Robe
are Kobe and Some Robe are not Kobe.)

Hence, the correct answer is Neither conclusion |
nor |l follows.

Conclusions:

. Some Flower is Tounge: False (This is a possibility
but not definite, as no direct relationship between
the two is given)

IIl. No Manager is Flower: False (This is a possibility
but not definite, as no direct relationship between

Q:3 The correct answer is Option 2 i.e. Only
conclusion Il follows

The least possible Venn Diagram is:
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the two is given)

ll. Some Flower is not Tounge: False (This is a
possibility but not definite, as no direct relationship
between the two is given)

Conclusions | and Il form a complementary pair.

Hence, the correct answer is Either conclusion | or
Il follows.
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